REHTRIERE I —RREF A EE %2

FIFAH BrEil F A H B FIARERE ~ - =)
1TE4
FIAMEEA
#E4 _ B [ \EeEE ] E | B | $E8 REH R AR
(1) S>—2Rh—ILEEL RIEHSE (5) >—2 X h—JLs Vo OH 2
BERFR —= 3,020 ERXNNVIDO<SBERFHR> —=t 10,800
TE 1% 160 S Ir ) —= 10,800
£2UES 5 (68) 1M 760 ;S VAT —= 5,400
EEA 18 320 FEHTINVY -3 30,240
A RASEA 18 160
L 18 160 (6)EEE
LB 18 640 LEEE. EBLERE ) | —HK 1,080
HE JEEM) —= 540
AREE 18 320
HYE 15 110 (7)RBEEEHE
EiESs GEma ) —= 210 E7/ 15 320
EEE 18 40 HERE 18 110
FERAWLY 18 40 MELEE. BEFERAEG) | —HK 1,080
AR 18 160 R—BTILTUT(RA911) 15 640
JSURE7T /(< /\S6B) 18 2,160 Joszya— 18 970
JS5URE7 /(A< /\CT) =) 1,080 RAOY—> 18 320
(2) S>—>2 Xofv—/LFEBF#8 B
R—F —S 4/ F(150W 724T) 151(2) 860
P E VR 151(2) 1,030
T 18—V RS A+ (150W 724T) 151 690 (8) AL
O7—HRYYJ RS+ (150W 724T) 151 690 88 1TKW 110
JOVRRRYESAR(IKW 25) 15 160 e TKW 110
TAVRRRYRSA R (750W 25) 15 130 it TKW 110
=T ZARYRSAR(IKW 188) | 151 2,160 BE 1KW 110
REWRSAM96WLED 24%T) 1R 2,160 ZDith 1KW 110
BHARR IS (1KW) 18 270
BHARR VLS (750W) 18 210
2 =5 AN
%t%?ﬁ?ﬂ'\ibvzrh(soom i 12 150 52 8 95
DRARYRSIAR(IKW F1/2) 18 1,080
BEREURRYSA(1IKW /\O4 ) 14 1,080
BEMRARE 18 760
HS5—T4NE—(17EE1EET D) 1K 430 F/EA B | 1HE%E 5] &%
BEEMH 1B5M | 1,250
(3) S—2 Xif— L B &R AEH 18R | 1,690
=i+ )
e = 270 ABEBUEL R EBUE R (2T55 CHIEBED1009%)
BAFIvI34o0T4> 1K 540 AR IS [\ 2
TAYLARAIOT4> 1FrvEl 1,620 AEERE RN
AT =AY = 860
ZEDYTAHOTAVEE 15 860 B I £ %
BEHERE —xt 1,080
AT—URE—H—(A) 70orE —xt 2,160 .
RAT—UAE—H—(B) BhiRYA —x%f 1,080 LI
(4) S—> Rit— LR B E RE £ #
BERELEREOD-280) | 1% 1,940
ROV)—=> 18 640 LR
e
1 ZORICBWTIEIOEED 1B, FRT (BN 12BFET) . FE (13BN 17RET) XIL®E (

18 ML 225 FE T) ICHITHTEDFIAZELD,

E7/ORERIE, FRAEORIELT S,

BREZHEDHZHUN THALLSEDR[EFABICORICE T DA% AMERELT S,
BERBREEELACEAE. FIAHEEEN OV AZYT1EIT10AEMET 5, 12120, FbA
ABIEEDSFHHEB AN FAOTVYIREDIZE(E, MELELY,

5 FEICTEEHRRUMAHEEREZST.

~PODN

= BHEAR

& \ Y =hs =2 ~ — Shs
B - E A B ZfH&ES tUi—kK & Z4f ) (HERE)




